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Sl 2 181,650 227,704 A46,054
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201 k=& 7,700 7,700 0
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— =X (EIIXH) 1,000,000& * 1CH 1,000
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2ots KAl 55,680 55,680 0
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02201 HY = ARt 50,0002 + 103 500
02 32| 600 600 0
OBTEHFA 2242
50,0002 * 6744 * 23] 600
206 28| 4,307 10,971 6,664
TS 4,307 10,971 16,664
OB Y TN FHBL 1,280
—HEGH YW %H T
20,0002 * 3% * 33 180
—€lHl L HIE P 10,0002 * 40F * 23] 800
—XT ] P 20,0008 * 3% * 53| 300
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OBMBILIR AlLTI22 2,320
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—=A| 2 500,0002! * 1CH 500
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OL-&=| 14,490
—g= 60,000 * 12§ « 1182 7,080
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OHA 2B22 % HAl 8,984
—HA JI23 630,002 * 128 7,560
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